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Answer ALL questions.

PART-A ° - (10x2=20 Marks)
1. What is an Algorithm ? ST
2. How the algonthm s time efficiency is measured ?
3. .Smt the following elements using merge sort. 18, 26, 32, 6 43 15 9, 1
4, What is medlan of thlee palt1t10n1ng ?
-5, ,What 18 Dynanuc p10g1 ammxng ? |
6. .Define Mult_lst_ager Graphs;.
7. ‘State the general backtracking method.
8. What is graph coIou.ring problem ?
9 What is a Bi-connected Graph ? ..
10. What is an articulation point in a graph ?
PART-B N (6x16=80 Marks)
11. a) Discussin detail all the asymptoﬁc notations with examples. (16)

(OR)

b) Write the linear search algorithm and analyses for its best, worst and average
case time complexity. (16)
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12. a) Explain the binary search with suitable example using divide and conq.uer

strategy. (16)
| - (OR) |
b) i) Write with suitable illustration prove the optimality of the container loading
greedy algorithm. ®

11) Suppose you have 8 containers whose weights are 100, 200, 50,90, 150, 50,
20 and 80 a ship whose capacity is 400. Use the above algorithm to find an
optimal solution to this instance of the container loading problem. (8)

- 13. a) Describe binary search tree with three traversal patterns ? Give suitable example

with neat diagram for all three traversal of binary search tree. (16)
S(OR) - o , -

b) Solve the all-peiir Shd.rtes.t-p'éth pi'bblem for the digrap.h“w.i:th .the following weight
matrix, - (16)
012 || 1] 8
6 |03 |2] »
wilow [0 | 4] w
owifoo |2 | O] 3
3 |o|[w || O

14. a) What is Hamiltonian problem ? Explain with an example using backtracking. (16)
(OR)
b) How does backtracking work on the 8 Queens problem, explain with suitable
example ? _ _ (16)
15. a) With an example, explain how the branch-and-bound technique is used to solve
0/1 knapsack problem. . (16)
(OR) _
b) Explain spanning tree for the following graph. | (16)




